
����� ��	�
��ر�� إدارة ��دة ���ر��                                                                                            ا
��ا�� أم ����ي �� ا�
ا  

 

�و���م ����ن: ا�����س�ط��� ا���� ا������ إدارة ا	��ل                                                                                        أ���ذ   

  ������ا���وى�ا��	���	����وع: ا	�������و��

���ول ����  :ا	

���������رة������ات��3��ح�أ��م�����������2ر�01ا�"! �ر���/�.+��.-,+*�()��'&��ا%$�#��ا�"! �ر����

�.��ا�C�8���ا���8���A�B8@ ��.�?<=�ا>;�ول�ا8-�100000��7ا%-�ج�#�ره�DC8ت�ا�DA�  :دج�و#�رت�ا8-

  1  2  3  4  5  

A 34000  43000  35000  37000  52000  

B  60000  50000  40000  30000  20000  

C  70000  60000  40000  30000  10000  

  :اI,+�ب

�JK��LIا����M8ل�ا�Mأن���O+M8�2ر�0��01اIه�اPQن�R2Sذه��Uا������Iا�VWXن��M-.ي�P8ار�ا�D8ا��Q���

��Q��Z[�Iك�%20ا_-Q`��D����( M-�a�����Iوأن�ا�b,c<ا.  

��ا	,�+*����  :ا	

دج�و#�رت�ا8-��DAت��1000000.-,+*�()��'& ��ا%$�#��#�ره��Bو�Aإذا�(�%�������eأ��م��2�و�Xن�

  :ا�C�8���اi+j8���A�B8& ��@ ��.�?<=�ا>;�ول�ا�Iا�7

  1  2  3  4  5  6  7  8  

A 250000  250000  250000  250000  250000  250000  250000  250000  

B  250000  350000  200000  100000  150000  50000  100000  50000  

  ���اD8�ار�اP8ي�.�*��VWXا�����Iا��Uذه�R2Sن��Qذ.�lا2I�و�Xن؟

��ا	,�	.����  :ا	

�.��ا�C�8���ا2I���A�B8�و�Xن�DC8ت�ا�DA�  :Bو�A. !)�ا>;�ول�ا�Iا��7ا8-

  4  3  2  1  0  ا	�01ات

A 50000  16447  16447  16447  16447  



����� ��	�
��ر�� إدارة ��دة ���ر��                                                                                            ا
��ا�� أم ����ي �� ا�
ا  

 

�و���م ����ن: ا�����س�ط��� ا���� ا������ إدارة ا	��ل                                                                                        أ���ذ   

B  50000  -  -  -  73206  

  :اI,+�ب

1- ��nد��DC8ا��$+jأن���O+M8ن���0ا�Xو�ا><�8���8+ 2�� �D8ا������*�o6أ%. 

 �����QاD8�ار�اP8ي��-PUه�إذا�(�ن�ا2I�و�Xن���-D_ن؟ -2

 �����QاD8�ار�اP8ي��-PUه�إذا�(�ن�ا2I�و�Xن�/�._ن؟ -3

��ا	�ا34����  :ا	

�=-$+jوع���ا%��ز��2��C�M��������VWXح�st#دج،�316000ا��=���10���.�DC8ا�=��DA���Cات�و#�رت��

stD��(Qح��VWXا�P�$C������I،�6%دج،��إذا��e +Xأن����x��$+jال�50000���nا�C�8���ا���A�B8/ـ�

  ا2I�وع؟��Iذا؟

  

��ا�56�7����  :ا	

��C�M��������VWXض��X3�01�2رIه�اPQل��oت���,M���7ا�Iول�ا�  :��2ر�01/�.+�،�.�?�zا>;

  �8�9�ا	��@?�ا	��1ي�ا	�01ي�  =>;,��ر���ا	

AB�C	ا  

�Eك�ا	�01ي F=�G�H  

A 10000  2800  2000  

B  30000  10000  5000  

C  120000  X  20000  

X= 40000و��V7وx��M~رxات��C�8وع��30000_ل�ا�د.��8+ 2�B-#`ل�/����ا><��ة�_�.  

 %�0�10ا�O+M8أن����x��$+jال���n: اI,+�ب

 ا�2Iر��8�U /�01ا8,�ق #�PQ�Oه� -1

 �����QاD8�ار�اP8ي�.-�]*�ا��Uذه؟ -2


